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QUESTION 1

Scenario: A Citrix XenApp administrator needs to apply a policy to all servers. The administrator needs to ensure that all
servers always receive the required policy.

Which type of policy should the administrator create?
A. Unfiltered User policy

B. Unfiltered Computer policy

C. User policy filtered by worker group

D. Computer policy filtered by worker group

Correct Answer: B

QUESTION 2

Scenario: An administrator wants users in their two regions to utilize the XenApp servers in their own region to get the
best performance from their applications but automatically fail over to the alternate region. The administrator creates an
Active Directory group for each region.

The administrator should create and . (Choose the correct pair of options to complete the
sentence.)

A. one worker group; one load balancing policy
B. two worker groups; one load balancing policy
C. one worker group; two load balancing policies
D. two worker groups; two load balancing policies

Correct Answer: D

QUESTION 3

Scenario: All users are unable to launch applications from the Web Interface. They receive the following
error:

An error occurred while making the requested connection.

Which action should the administrator take next to troubleshoot the issue?

A. Restart the XenApp servers.

B. Restart the client machines.

C. Restart the Web Interface server.
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D. Review the error logs on the web server.
E. Review the error logs on the client machines.
F. Review the error logs on the XenApp servers.

Correct Answer: D

QUESTION 4

Scenario: A server farm has five servers which are members of the FARM worker group. Multiple applications are
published on the servers for use by over 100 employees. One of the applications has only 10 licenses.

What could the administrator do to allow only 10 employees to use that specific application at any given time?
A. Set the concurrent logon limit to 10.

B. Apply the limit user sessions policy using a filter.

C. Assign a load evaluator to the published application.

D. Apply the connection access control policy using a filter.

Correct Answer: C

QUESTION 5

Scenario: The IT administrator at an online education institution manages a XenApp farm that provides access to
lectures and other class materials. The students and faculty members connect to the XenApp farm published
applications from remote computers that are NOT part of the corporate Active Directory domain. Each student and
faculty staff member is assigned a unique set of Active Directory credentials with a password expiration policy of 15
days. The administrator needs to allow users to change their passwords from the Web Interface site since the
computers are NOT part of the domain.

In order to configure the Web Interface to allow students and faculty members to change their passwords from the Web
Interface site, the administrator could allow users to change expired passwords by contacting the . (Choose
the correct option to complete the sentence.)

A. data store

B. server farm

C. domain controller directly

D. domain controller directly with fallback to the data store

Correct Answer: B
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